EARAROBEEIERT — 2 N— IBISH —F

2012878218 (4) 2E#R3H

Ll o REE 3L KRBT EE

[xwlw | lEmml - ) oo 8

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N N oy . 7 4 _ fEBRH_ (BXR)
1 6l @=K>EO®yNZ 7 = 3.(0_5).7 8-7-4-4 | 13.0 3 (4154) fiven
k74 =>T Bk EQTA b [Ea=Eae]
N o AMR— :06. -1-1- . — HREl (3£#)
2 HEREE LA A4S0 (3103?/‘8 =18 ! tg? i
LT RIAYAT—> BiU—Tq—9y K HET7—L
S 4 6 | BILET 3:06.3 6-5-3-3 | 13.1| — 2 496 | ERER (EH)
3l5lglE¥EXFal— 60.0 (1 3/4) (-g) | PIEBHE—ER
RigLZA Y E—y FB:ediaya HIARE Yk
N AR : —3-2- — FHEEX (EH)
4057 SO+ F 4 8 ok 3.(0:?).8 5-3-2-2 | 13.1 8 ff) /J\MET-E\
Vv dRry b B:yryOr () #8a—-FL—->a>@qE77
N N . EHAEE :06. —3-4- . — IRARRIL (i)
5011 > /777Ly R #"o4 60.0 ?/96533 o6 18 ! (4_824) REXE
f:Giant’s Causeway £:¥FF/N> K Ciflib e
Py A+ R :07. -10-6- . — BEEE (ERH)
6 10 ®aT5E—I 4 8 _Olit (33017/24) 10-10-6-5 | 13.2 4 ag;t T
R:d—H4 BT — FH XF
N t 5 | TR 3:07.5 9-9-7-7 [ 13.2| — 5 516 | LR (E#)
7 4 PAEYAYRE WAy ES k 0.0 (3/4) 8 ?;ﬁ) B—T e ZR—k
R:7v3is—L B:3I07¢-2 BB
== t> 5 | FRiEA 3:08.2 11-11-8-8 | 13.2| — 11 432 | EKER (EH)
8|8|13| 7Y 71 X @ o |mEEZ
R:T59U8%Y—F B:TLTIT4T B AR
i 4 5 | MEFHER 3:09.8 13-13-12-12| 13.3 | — 10 | 420 |BERFEX (EH)
olglial /=72 58.0 (10 o) | MESIE
L:FNINYZ BTFrE-I-X AESHH X VS
o o N EHARR :10. -11-10- . — BRFEL (EH)
10 3 ST TP F 4 5 il 3(170)9 11-11-10-10| 13.4 6 (4_926) e TR
R:FaF 4N B:IIRTryar J—HrIr—L
_ . SARBEK : —8—11— — aAE (E#)
» o |FATYTEYR o4 5 3710t§a 6-8-11-11 | 13.4 12 12(5;)2 orE
L:/=)=X> B:Z9RT+4X B BE
44 | AIBHENT 3:11.9 2-2-8-9 [13.5| — 9 482 | EHML (EH)
12| 7|12| ARAE/ —N—L 60.0 ® Cia) | (B) EvTLy KTr—1
LB/ INYR B:YrhrTTyva A AR
. EEE . _5-19— — =2 i
13 g|@T—24T5yF o8 g%%uém 3711@9 3-5-12-13 | 13.5 13 :1+724) Egg’e ES5)
L:afvngyF BEa—-71T72F EONS
j — 2 5 | JIAE 3:23.9 13-14-14-14 14.3 | — 14 | 432 | =@ (E#)
14]7 (11| @FTVE =T T~ "5 G &3 vl Rt I
RHISTLIFL N B2 MR L Nk sk
@ 21 L
£y 49.4-37.3
ngraAq L
® I—F—@EBIERL
|S=7r= 5,12(1,9)7(8,2)6-4,10(3,13)-(11,14)
Aol=5"= 5,12(1,7) (8,9)-6,2,4,10(3,13)-14=11
== (x5,7)8(1,6)10,4-(12,13)-3,2(9,14) =11
43—+ — (x5,7)8,6,10,1,4-13=12,3,2,14-9=11
[ RN
-y 6 570 | | 71 K 5-6 260/ | | # = 4-4 870 | | 3EfE 5-6-8 670
# B 6 1609 6-8 300M B E 66 760M EE 6-5-8 4,800
5 140 5-8 220M B H 6-5 1,710
8 1209

ABICOVWTRDTEEERROODE. TR LIV,




